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SAMPLE QUESTIONS

Class 9

( Important Instructions: N

* This sample paper comprises of 50 questions for each class while the actual paper
will be of 100 questions

*  Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

* Every question has 1 correct answer

*  There will be no negative marking

* All questions carry equal weightage

*  Duration of actual exam (with 100 questions) will be 2 hours

* In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall

* Inthe actual exam, additional 10 minutes will be provided for reading the instructions
and filling the OMR sheet
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Section A - Science

dl, 4f H TE F BRU A fhadl R
fopar man

1. The formula of Calcium phosphate is: a. g
HiRIH BTEhe 1 I 8 b. YD
a. CaPOy4 b. Ca(PO) c. BUTHD
C. Cag(PO4)2 d. Cag(PO4) d s:rﬁ' @' Ebﬁ'st T-rEﬂ
2. Molecular weight of CuSO4 .5H> O is Mahesh applied 10 N of f(?rce over 3 m
equal to: in 10 seconds. Joy appl'led the same
ST % force over the same distance in 1
CuSO .5H O "I minute. Who did more work?
a. 249.5 a. Mahesh
b. 159.5 b. Joy
c. 159.5 x90 c. Both did the same work
d. 159.5+10+16 d. Both did zero work
3. If isotopic distribution of C-12 and C- HeX 4 LO §$S H 10 N T 3 m TP
14 is 080 0 : T S A I B 9d I g W1
is 98% and 2% respectively, then T i -
number of C-14 atoms in 12 g of Cis: ! PH
g C-12 3R C-14 BT FogefaF faavor Ur?
HUR: 98% SR 23 g, dl 12W ¢ H C-14 a.II%VW
AR H W fHa 82 b. &
a. 3.88 x 1023 c@‘ﬁﬁwmmw
b. 1.244 x 1023 d Eﬁ“ﬂﬂf&rmm
c. 3.88 x 1022 A child on a skateboard is moving at a
d. 1.244 x 1022 speed of 2 m/s. After a force acts on the
child, her speed is 3 m/s. What can
4. 18g of water is electrolysed. The weight you say about the work done by the
of oxygen obtained is: external force on the child?
1§,1;|T Blsikcal Iaa\ Jdsfqacy fepam T gre a. Positive work was done
SHIRISH BT HR foba %? b. Zero work was done
a. 169 b. 8g c. Negative work was done
c. 4g d. 1g d. Infinite work was done
Whedls W U g1 2 m/s PI IR 9 §¢
5. Work done by tension in the string e % T §d § W P I %I 3T
when a ball tied to a string is being TRy 3'm/s %I = W TEd 59 e fpu U
whirled around in a circle is . .
A Zero B & IR T 31U T Hg ol 67
b. Positive a. YATEHSD A fobar mar
c. Negative b. A &0 fobar T o1
d. none of these c. FUTHS S fopar 1ar U
3R TP TG B YN ¥ T T gHRT S d. 3 d BT g T AT
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Typhoid is an infectious disease caused

A
by
a. virus b. bacteria
c. protozoan d. worm X =X
RGOS Uh WhMHd T § o
HROT Il B B
a. fasmy b. Bl y
c. SitaeTor d. PIgl
a.x=h b. y=k
9. An insect which transmits a disease is c. x+ty=c d x+y=0
termed as D
a. Prey b. Predator In a rhombus which is not true?
c. Host d. Vector a. Opposite sides are equal
Udh TR @ J9IRd &1 d1d Pl ol b. Opposite sides are parallel
cIGI c. Diagonals intersect each other
a. G b. ReRt d. Diagonals are equal
c. TifiT d. U FAQS & SR I T €2
a. fudia Yo RIR &
10. When some disease occurs, either the b. %qﬂa TR &
normal functioning or the appearance c. fawvi T @3\’ Dl Th @% 1 Dad §
of one or more system of the body d. GG W
changes. Such changes give rises to_of
disease. PQ || RS. AB bisects #PBD and CD
a. Symptoms bisects #/BDS, ABCD is a
b. Signs M
c. Problem
d. Both a. andb. P B Q
S§ $© SR il 8, df a1 dl IR SRl .
IR & TH I TH &rf% il C
SURURY sEad Bl 3 UBR & URad I ,
b feara 1 R /D S
a. d&ur N
b. g
c. gEEl a. Rectangle b. Square
4. e a AR b c. Parallelogram d. Rhombus
' ' PQ || RS. AB «PBD fguiford & ot §
Section B - Mathematics IR cg <BDS fHIfsid @1 Hedt 3, ABCD
. i
11. Which equation represents line AB? a. Sfad b
B 1 G, 3T AB HT UG BT c. FHIR TG d. g
%? ABCD is a parallelogram and PQRS is a
rectangle. AP, BP, CR, DR are the angle
bisectors of ZA,/B, £C, /D
respectively. If ZA = 100°, then ZLx =
Class 9 Page 2
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ABCD 9HT<R 9g4d § 3R PQRS 31d ©.
AP, BP, CR, DR %H: /A,/B, /C, /D&

FofgUes g
[
D C P
A
3R /A = 100°, /x =
a. 80° b. 40°
c. 180° d. 90°

c. 4 cm? d. 3 cm?

18. Circumference of the base of a joker’s
cap is ma. If its height is b, find its

volume
Th SlIpR Bl elUt & 3MYR Bt R na Bl
e gqa! SIS b §, dl SUBT Arras
§dd
a. ma2b b. mab?2
wab wab?
= d. =5

19. Ratio of total surface area of sphere
and a hemisphere is

15. ABCD is a parallelogram and E and F ; = >
are mid points of AD and BC. If ar(APE) SR o £ od T S1aId %
+ ar(BPE) = 20 m2, then ar(ABCD) w11
ABCD JHR g4 § 3R E and F, AD AR
3R BC & H¥ fdg §. 8FR &=.(APE) + c 310
&=. (BPE) =20 m?2, dl &=. (ABCD) d. None of these
A r B 20. Total surface area of a cuboid of
V\/ dimensions a, 2a and C}ais
E F T a, 2a or 3a Ml B T °AH) B
/ / T SAF §
5 o a. 30a2 b. 22a2
a. 40 m2 b. 80 m2 c. 24a2 d. 12a2
c. 160 m2 d. 120 m2
16. The mean of 11 observations is 50. If Section C - Loglcal Reasonlng
the mean of first six observations is 49 . .
and that of last six observations is 52, sQel;ieesstlZilverﬁz.lb_ezlgx);;/ I(I)lnethl(\e]urlr\llgé?bz
ﬁenf\th?. Slx‘cgégicﬁréglgg I%'SI afz Ued 6 missing. Each series is followed by four
,Q il . N ¥ alternative answers (a), (b), (c), (d). One
UIQZ“'W Hegadl ﬁg 49 w6 of them is the right answer. Identify
TIfrTT BT 52 ©, Al BBT & and indicate it as per the
a. 56 b. 55 “instructions”.
c. 54 d. 53 (21-23): -4 €t TS T Y@ B, Th AR
_ TS 2l Ud® Y/l & 98 IR
17. If the length of the median of an (&), (), (9), (d) %I ﬂﬁﬁ@ﬂ_@m%
equilateral triangle is V3 cm, then its EI_E:'?Hef, \3?|T, I F GWW
arcals B o 21. 2,12, 36, 80, 150
RIS AT el a. 242 b. 262
\3 cm §, ol 3HP] & T 87 c. 252 d. 232
a. ?cm2 b. V3 cm?
22. 992,552 132, 30,6
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a. 305 b. 306 NAGPUR &1 87
c. 356 d. 326 a. QXJMXO b. QXJMXQ
c. QXMJXO d. ZXJMXP
23. 1695, 1700, 1710, 1727, 1753
a. 1760 b. 1790 Questions (28-30) : With the help of
c. 1780 d. 1770 given diagram, answer the following
Questions making the right choice from
Questions (24-25) are based on letter the given alternatives. Indicate the
analogy. There are two pairs of letter answer as per instructions.
combinations in each Question. The : = —
first (left-side) pair has some /‘A\ T
relationship between its members. In L A' '
the second pair, one member is o\ g 5/' " s
missing. Find this out from answers 8 -
(@), (b), (c), (d) the instruction. e _
% (24-25) T wwETar W OSYRG §. 0 o
TS Uy B 31eR T & & WIS 31 Usd
(@ %) TG & Te B § o G E L5 N
W Siiel ®, U 9a™ TS gl SR (a), 4 1 Val
(b) (©), (d). 39 S a1 AT T i le;. ;qtan%erepreser;tsEda est 4
TR Gﬁ@ % T ) . Triangle represents Educate
P c. Circle represents Urban
ﬁé‘-‘ﬂ % W SIECARSCIEERIY d. Square represent Civil servants.
24. CGKO : AEIM :: DHLP fag ™ aﬁqﬁm& fag ™ A
a. BFJN b. GJFN wwm$m . HA PTSR
c. FNJI d. BJNF & Pl & SRR I Fa
a. 3T, TR BT Ui It §
25. 876:FGH :: 345 b. Py, Riféra o1 giaffea wzar g
a. CDE b. EDC c. 3, &Y &1 Ul #d g
c. DEC d. CED d. =+, Rifdd el 1 ufaffa & 5l
28. Who among the following is an
Questions (26-27): Read the following educated male, who is not an urban
information carefully and -answer the resident?
Questions given-below. R ) fFufefed & ¥ e Rféa Y CAG] %7 il
(26-27): SeRT Pl HYdD e Pl 781 &2
Te 3R-fu 7T s ) &1 Siad Fan 4 b 5
c. 9 d. 11
26. If code of BOARD is CPBSE, then code
of CHAIR is ) 29. Who among the following is neither a
3FR BOARD W MW # CPBSE @, dl civil servant nor educated, but is
CHAIR HT %? urban and not a male?
a. DIJBS b. DIBJS g & 35 7 a Rfed Jao 1 Rfea §,
c. DIJSB d. DISJB <fe e 8 SR 4o 151 87
a. 2 b. 3
27. If code of BHOPAL is EERMDI then c. 6 d. 10
code of NAGPUR is
3FR BHOPAL T HI¥T #§ EERMDI g, dl 30. Who among the following is an
Class 9 Page 4
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31.

32.

educated male, who hails from urban
area?

fafiea # ¥ e R v o4 §, st
R 8T I 7P

a. 4 b. 2

c. 11 d. 5

Section D - English

Questions  (31-35): Read the
following and answer the questions
given after it.

Observe the dilemma of the fungus; it
is a plant, but it possesses no
chlorophyll. While all other plants put
the sun’s energy to work for them
combining the nutrients of ground and
air into the body structure, the
chlorophyll less fungus must look
elsewhere for an energy supply. It finds
it in those other plants which, having
received their energy free from the sun,
relinquish it at some point in their cycle
either, animals (like us humans) or to
fungi.

In the search for energy the fungus has
become the earth’s major source of rot
and decay. Wherever you see mold
forming on a piece of bread, or a pile of
leaves turning to compost, or a blown-
down tree becoming pulp on the
ground, you are watching a fungus
eating. Without fungus action the earth
would be piled high with dead plant life
of past centuries. In fact, certain plants
which contain resins that are toxic to
fungi will last indefinitely; specimens of
the redwood; for instance, can still be
found resting on the forest floor,
centuries after having been blown
down.

Which of the following words best
describes the fungus as depicted in the

passage?
a. Unevolved b. Sporadic
c. Toxic d. Parasitic

The passage states all the following

33.

34.

35.

36.

about fungi EXCEPT

a. They are responsible for the
decomposition of much plant life.

b. They cannot live completely apart
from other plants.

c. They are poisonous to
producing plants.

d. They are vastly different from other
plants.

resin-

The author’s statement that “You are
watching, a fungus eating” is best
described as

a. figurative

b. ironical

c. parenthetical

d. contradictory

The author is primarily, concerned with

a. warning, people ‘of the angers of
fungi

b. describing the actions of fungi.

c. writing a humorous essay on fungi

d. explaining the, long life of some
redwoods.

As per the passage which plants found
resting on the forest floor for
centuries?

a. fungi

b. rosewood

c. redwood

d. blown down plants

The following sentences come from a
paragraph. The first and the last
sentences, are given. Choose the order
in which the three sentences (PQR)

should appear to complete the

paragraph.

S1 — Even today many countries
women continue to be

S2 —

S3 —

S4 —

S5 — educational and vocational
training.

(P) neglected and there are far

Class 9
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(Qwho had the benefit of UHgd &l ggdl Y& hd ST T UT?
(Rifewer women than in Choose from a. 1556 b. 1558
the options given below: c. 1526 d. 1761
Choose from the options given below
a. POR b. PRQ 43. Which planet is called a Swift Planet?
c. QRP d. RQP a. Mercury b. Saturn
c. Earth d. Uranus
37. The following group of four words, find fog ug &1 dig U8 &gl 9 g2
the incorrectly spelt word a. 9% b Ty
a. apparent c. gt d. w
b. pleasent k!
c. c'hfferent 44, Where is the headquarter of United
d. independent Nations?
. a. New York b. Paris
38. glhoose the on;: t‘ghlch besthexpress_es c. Geneva %d. London
e meaning o e given phrase. give WWWWW >
up: o A
a. postponed b. adopted a. i b. .
c. abondon d. amended . fora d. oed
39. Select the word which means the same 45.  Who discovered Zero?
of the given word. ABEYANCE: a. Brahmagupta
a. obedience b. Aryabhatta
b. discussion g (Siha;ak
c. suspended action - Sushruta
d. excitement fhe SIRI & Wil Bi?
a. eI b. 3MTHE
40. Select the word which means the c. TN d. gYd
opposite of the given word.
EXTRAVAGANT: _ 46. Who was the first Indian woman in
a. wonderful b. developing United Nations General Assembly?
c. disappearing d. economical {.igiqd MY HERAHT pu | Ugell HRAT Afgdr HHE
ore
Section E - General Knowledge a. Vijaya laxmi Pandit
41. Which country is NOT a permanent b. Sushma Swaraj
. . . c. Kalpana Chawla
member of United Nations Security d. Indira Gandhi
Council? '
i' Féi?gz Z l};l;:f 47. Where is Dead Sea?
: . y 3 a. Israel b. Jerasalem
B %Q[ e g GR&m U TG DI c. Saudi Arabia d. Greece
TeH el 82 Td AR Fel 87
a. 1y b. =¥ a. IORIZA b. SRTEeH
c. 9 d. ST c. TSal 3RT d. I
42, When was the 1st battle of Panipat 48. Which country’s flag has a maple leaf?
fought? a. Japan b. Canada
Class 9 Page 6
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c. USA d. England
ﬁqm%maﬁrwwﬁuﬁwwg’%

a. Sl

c. quI d sﬁ‘s’

49. In which layer of atmosphere, do the
meteors occur?
a. Stratosphere
b. Thermosphere
c. Mesosphere

50.

b. dIUHTSH

c. AFHUSH (HIRDIR)
d. &fYATSd (CIhIRWBR)

What is the name of the Parliament of
Russia?

a. Duma

b. Diet

c. Knesset

d. JatiyaSansad

d. Troposphere G Pt TG BT AH T 87

TR B b TR H e BN 87 a. SAT b. ¥

a. JAIIHUSA c. Tc d. STy 4§9g
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